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Answer each of the following questions in about 150 words :

tor would take into consideration while

Discuss the key points that an Audi 1

auditing the books of accounts of an insurance company.

(b) meﬁmm@mﬁﬁma?mmmﬂwﬂw%m

Tl &7

What role does accounting play in a financial
information can be derived from it?

m? What type of

information syste
p+4=10

m%ﬁmmm%?m#ﬂa—mﬁaﬁm%?ﬂﬁmmmﬁﬁmmfﬁﬁm%?

tives? How does it differ from
3+3+4=10

(c)
What is Cost Accounting? What are its objec
Financial Accounting?

(d) nﬁmmmm%ﬁﬁﬂwﬁﬁﬁ%wmrw,w@mﬁmﬁﬁnm

w-ga 4 i 2 87
Discuss the various variances in standard costing system. How are the
material, labour and overhead variances different from one another? 3+7=10

(e) ézqémﬁwﬁﬁmﬂ&Hmmﬁﬁﬁmﬁmmﬂ%%mﬁmﬁﬁw-ﬂl

qeITf gAAl 8¢
Distinguish between VAT and Service Tax, How do they apply to goods and
services, and what are the administrative challenges in these taxes? 5+5=10
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T % & T 1,20,000 # mifts R w s A T 30,000 1 URETEH =1
a1 M) s B % SEEn

(b) T
i fish) 1 2 TN FOh

?lmﬂaﬂwm?ﬁﬁ?ﬁﬁaﬁitﬁgﬁgﬂﬂaﬁm
3 e, A 2R e enur W fRif w e fen s i

af=Ted @M T 30,000 # Tl R

9 SET & IR W, TR ediE HAl B—

i) T-HTE] S

(i) Wt TRl A,

i) wA-freda frg (e 1o Hlo);

(iy) T40,000 % ey F fer w3l A (e Mo THe);
(v) ¥ 3,00,000 ) mftrw ekl % fog =)

It is observed that at a monthly sale of ¥ 1,20,000, a firm suffers an operating
at any increase in sale will

loss of T30,000. The management apprehends th
of the firm analyzed the

further rise the loss. However, the Accountant
situation based on cost, volume and profit, and showed that the firm may earn

¥ 30,000 operating profit by doubling the sale.

Based on the above information, you are required to measure—
(i) P/V ratio;

(i) monthly fixed costs;

(i) BEF;

fiv) MOS for profit of ¥ 40,000;
5+3+3+2+2=15

(v) profit for monthly sale of T3,00,000.
(¢) () To THe 2T MuIRE ArA-TE {gﬁzﬂ}qaﬁm#ﬁmrcﬁaﬂﬁaﬁmml
Explain in brief the principles of inventory valuation based on AS 2.

(ii) WA SREiE qw mqwaﬁmﬁﬁﬁﬁwﬁﬁq # =ofa iR

of depreciation based on the

Describe in brief the permissible methods
relevant Accounting Standard. 6+9=15
3. (o) e SfufEwE, 1961 % rid =6 9 st <) oA & T7E w9} Eiwa Sl B 1A
7 FHzEel
Explain in brief the deductions that are expressly allowed in computing the
income from business under the Income-tax Act, 1961. 15
(b) ®W 15 54, 5023 F1 T10,10,000 ¥ 3mymw a9 ¥ ? (shw F g | smpell | 9
25 W, 2002 # T94,500 o T I TH fEA W T10,000 FTWEA F FEO)|
15 fawR, 2023 F1 7@ T5,00,000 F1 & Rereh 76A @11 15 5, 2023 H I6F
o8 FrE feri 5ee ¢ 911 94 2002-03 # w@rd TG gEFE 105 @1 941 9§ 2023-24
4 I7 348 41|
= fauitor 9 2024-25 % fore Fwm dsi 0 91d i)
[ P.T.O.
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2026 B TER ¥4 WM B, F

2025 & T #4 T A I
mé.ﬁ!mﬁm@mmm

iy firg 7t 1 € 0,000 (cost of jewellery to
for 2 lurl ’ .
: ; IELh June, 2{]23 d on thﬂ sale of
ol ; e ;
Eir;ficr:las € 10,000), On 15th December, 2023, ¢ P y residential

did not own an :
house for € 5,00,000. On 15th June, 2023, he di e siifs N
house. The cost inflation index for 2002-03 was

= the Assessment
Compute the amount of capital gains chargeable to tax for

Year 2024-25.

() Assuming that Harish sells the new
15th December, 2026, what will be the taxabl
year?

i) Assuming that Harish purchases any other . '

fi 15th Ju?m. 2025 or constructs any other res:dcn_tia.l hnu?e ha}:?r;
15th June, 2026, what will be the taxable capital gains and for whic

residential house bEF?rc
e capital gains and for which

residential house before

r
y

& & 9+3+3=15
year? s
C)\(b\‘b%:;\
@ P K
) o fifs 3 T2 5 S AREA R BP0 s S % 200000 A T I FA
feru e swi=a frg, fome : T = o

3¥eA T8 WEA | T 6 ufa I (fiftem wied)
35 Uit wum v fEm g (FiE) ©

600000 3T T ¥ fAT a7 W FUI 300000 I ¥ fom e AR Ry M
w4 T F9E R R T W AEEH B ARG AYR | IR dERa Ry ) gee i
Fif=m w1 $ 7 3R 2000 0 1 S wh vin ww g€, FE = = fam SR <7
ufa S o o | sl foean )

whr fafiee i gasi # Eawas sHa sfafEat fifg)

Sky Ltd. invited application for issuing 200000 Equity Shares of ¥ 10 each at a
premium of T2 per share, payable as follows :

T 6 per share (including premium) on application and allotment
Balance on the first and final call

Applications for 600000 Equity Shares were received. Applications for
300000 shares were rejected and money refunded. Shares were allotted on
pro rata basis to the remaining applicants. The first and final call was made

and all the amount was received except on 2000 shares, which were forfeited
and reissued at T7 per share.

Pass necessary Journal Entries in the books of Sky Ltd.

SLPM-P-COM/6 6
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i T F

ey T Sl -T0EE 1

State the duties of an Audit
audit procedure to be followed by the Au

of dividend.

o weap fagst A
v faem T A

Discuss the important
beginning and during t

fraan i
mﬂﬁaﬁmﬁimmﬁm

mﬁém-qﬂﬁaﬁﬁaﬁﬂﬁ
apqeé = ATel Sl

or with regard to payment of
ditor in respect 0

investigator draft his report?

ﬁm-m‘ﬁa'ﬁw'm’%ﬁnh%ﬁmmﬁmil
ﬁrﬁaﬁmmﬁnaﬁﬁ@ﬁm

points that an
he conduct of an Investigati

ﬂﬁﬁaﬁﬁmmﬂﬁwiﬁ‘tﬂa*

it # fesm R

frfafan wtHs! @ I9E

ﬁﬂmaﬁﬂmaﬁ,aﬁ?ﬁmmﬁwaﬁ%m,
L e e et
Investigator must consider in the

on. How ghould an
6+9=15

dividend. Discuss the

f checking of payment
6+9=15

m-mﬁﬁﬁ%ﬁmm
‘arew’ TE 39-391E ‘e’
et AT, i AT
g w #Aa @ 30%

gﬁkgmﬁ@ﬁgﬁﬁmﬁ'ﬂﬂiﬁﬁ'{tﬁﬂmﬁﬂ Frafty & A
100 kg 3N ‘e’ S0 k. 1’ 1 fra Hed T 120 Wi kg @
arf\'lﬁﬁ ] :
[T] Hohl el
(%) )|
ardt 10,000 6,000 500
L 7,000 5,000 2,000
| =g 2,500 1,500 600

A by-product ‘Beta’ is derived in the course of manufacturing a product ‘Alpha’.

The by-product is further processed for sale. From the following data available
from the records, prepare an account showing the cost per kg of product
‘Alpha’ and the by-product ‘Beta’. The quantities produced during the period
under consideration were—‘Alpha’ 100 kg and ‘Beta’ 50 kg. The selling price of
‘Beta’ was ¢ 120 per kg on which the profit earned was estimated at 30% :

Se te Expe
Joint Expenses ik Lees J
(T) Alpha Beta
(%) (<)
Materials 10,000 6,000 500
Labour 7,000 5,000 2,000
Overheads 2,500 1,500 | 600
20
ERTC



—B
[ON
gvs—B [roEz
#fE :
£ }Sﬂﬂiﬂ i at 150 words l[}xs.s(}
gt A @ T tions in @b° frg
5. lowing ques . 2 fiyz1 =Rl EEIREL
Answer each of the fol el T I
: ST l e o
o) et o T 5 . How does & company decide
i &7 timal capital structure: 6+4=1
Explain the concept Of ﬂFand equity?
(b) TG T F fae @@ del of cash mﬂ-ﬂagcmcnt 10
g ~ d Orr mo
WritabouchEes g A s @ HT
(c) qu?ﬂﬂﬁ?ﬁﬂqaﬁf%amﬁﬁ. dsff 9 oo+ and money market in the context of
Differentiate between CaPital maries 10
; i tem. ‘
Indian financial sys W areh o5 £ T R
(@) i AR A st T T
& fad=m Fif . P
Explain the concept of dividend policy- Discuss the various types of dmdl‘::d
: +6=
policies followed by the companies. 10
(e) Taefia st it Gepew I TR S ¥fom S wepewl ST M frefta Sl A 595 w2
e #1 faa=m Fif _
Explain the concept of financial services. Dis-:.:uss thf’ concept of credit rating
and its growing importance in Indian financial services. 3+7=10
6. (o) ficm, oy d gameH H suTen &) qhona 3 wWe ff | FeE @ sfenree 61 fawem
3 1 ST B 57 et e ) A R gRRTE o Sfeg 6 faem HitEren 9%a A7
Define and explain the concept of merger, takeover and amalgamation. What
leads to the failure of a merger or an acquisition? How should a company
ensure that merger or acquisition is successful? 6+7+T=20
(b) T fafiee T 202324 F fau frfofeg siwe w=m i @

faFa—<80 @@

REda |ra—< 56 @@
41 gfEe are—< 8 &
e fofia am—% 4 @
Jull 1 H T—25%

g0 flo THo—T 9
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'qau]* ﬁ?ﬁﬂ?ﬁi‘lﬂ‘l Eﬁl

#o Ale
(i) w3 R aRereR sden (Reae) 6 Aok (@) | o Teto] H T

oh (Raft) [Fe THo Teo] T Haw IWrew A A (A (e
e vg gfomdl ) =aren i

(ii) af et s feh A Et}%ﬁﬁgﬁ‘ﬁaﬁﬁ%,ﬁ’!‘in flo THo B Al
(i) & W8 qfErm % U AT I #fer |
following data for the year 2023-24 :

gfada gm?

Rainbow Ltd. provides the
Sales—T 80 lakh
Variable Cost—< 56 lakh
Fixed Operating Cost—< 8 lakh
Fixed Finance Cost—< 4 lakh
Effective Tax Rate—235%

EPS—¥9
Degree of Financial

: ting Leverage (DOL),
(i) Compute the Degree of Operating = CL) for the company

Leverage (DFL) and Degree of Combined Leverage (D
and interpret the results.
ill EPS
(i) 1f the company can increase its sales by 20%, by what m;:?r::dnin i,
change? Give your answer on the basis of your results o 9+6=15

(c) EM@WW%MWWWW%:
e (RaRT) 3 o1/ (01 + 36 o &9 & 1 S @
20% FIEA T 3 B @ (K ,) 18% A S
(i) 3R FE A (THe Mn)mmwﬁmm%ﬁm%sﬁmmxewﬁhﬁ?
i I frm s ¥, sEfe gS H T
(i) R & REEH FE (We Ao 330) HieH H Ticid
T (K,) 15%%,a’lw%ﬁquxewa'\rﬁ?qna”rﬁqﬁm@aﬁm
(K ;) feom el 21

A company provides the following information related to the capital structure

planning :
Leverage is measured as Debt/(Debt + Equity)
At 20% leverage, cost of equity (K,) is measured at 18%

(i) What will be the K, at 40% leverage, if Net Income (NI) model is followed?

(i) If Net Operating Income (NOI) model is followed while overall cost of
capital (K,) is 16%, what will be the K, at 40% leverage? Assume cost of
debt capital (K;) to remain constant. 6+9=15

SLPM-P-COM/6 9 [P.T.O.



Foga—% 110 fa 0T
st T 115 3R TR
<frd) S 40 Wfd

T ATl T 3 TR ¢ -

1 7u T 100 3 FogE F A T -
i ?ﬁmmwmwﬁlqm[@hﬁ)m%ﬁ
(i) S%Waﬁmflun%aﬁmﬁmﬁﬁﬂ;?g;
mS%Eﬁﬁﬂﬁwmﬂiﬁm%b‘ﬂﬂéﬂﬂFﬁ 5
%|ﬁﬁﬁamﬁﬁﬁnaﬂﬂﬁtﬂm)

mfssﬁaﬁmm | i
(i) féﬂﬁ%ﬁfgﬁﬁq CE e i i e 3R R 8% 21 fm

1 F1 T 40% &
: : ou are required to

- ) M of an engineering company, ¥ 2

Amafinancs 08 o f capital of the company using (1) Book-

compute the weighted average cost O : :
value weights and (2) Market-value weights. The company’s present capital

structure is :
5

Equity Shares (¥ 10 per share) 30,00,000

10% Preference Shares (¥ 100 per share) 4,00,000
12% Debentures (T 100 per debenture) 14,00,000
48,00,000

All these securities are traded in the securities market. Their recent prices are
Debentures—<% 110 per debenture
Preference Shares—< 115 per share
Equity Shares—< 40 per share

Anticipated external financing opportunities are :

(i New T 100 Debentures can be sold at par at 9% coupon rate, reedeemable
at 10% premium after 5 years. Flotation cost would be 2%

SLPM-P-COM/6 o




(ii) New ¥ 100 Preference Shares carrying 8% dividend can be sold at par,

redeemable at premium of 5% after 10 years. Flotation cost would be
T 3 per share

(i) New < 10 Equity Shares can be sold at € 35, Flotation cost would be 2% of
issue price. Expected dividend on Equity Shares is 20%. Anticipated
growth rate in dividend is 8%. Corporate tax rate is 40% 20

o m@wﬁm@ﬁﬁwm.mmﬁmmimﬁ
ﬁﬁ'ﬂﬁﬁﬁﬁﬁ,ﬁ'ﬁ(‘f{ﬁﬂﬁn‘ﬁn arzo) =1 iR =1 HHHES|

Discuss the present state of Indian capital market. ustrate the role of SEBI in

regulating the markets in the changing international investment scenario. =%
4+16=

) e s e (fo 3o ﬂa}ﬁﬁu&f{a—qﬁmﬂm@,gu o Fo F HA T
Enci
How is Economic Order Quantity (EOQ) determined?
discount affect the EOQ?

How does quantity
4+6=10

8. (a) Wﬁmmﬂﬂmﬁmmﬁﬁﬁ,mmwﬁ’ e o S

1 3wt s B e A
scuss the emerging role of

Explain the structure of Indian financial system. Di +10=15
RBI in the changing global scenario in this 21st century-

(b) 3 3§ ¥ e T T w9 7 frefaied aﬁﬂﬂﬁﬁﬁm%:

a9 Teal gare
(Sl

0 (=) 20,00,000

1 8,00,000

2 8,00,000

3 9,00,000

ﬁﬁa%aﬂm%mﬁ#mqﬁqﬁwmmﬁmﬂ

(i) afiee 1 A & (3Re e IRe);

(i) zmTa e e st
Tgf @] FErE &% 10% a1 21 10% 3R m%ﬁagmﬁaszlamaﬁmq?x 3 94 &

foru A R T #
a5 : 0 1 2 3
10% T ga9H 9 1 0909 0826 0751
12% T Fa9H o4 - 1 0892 0797 0712
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A plant with a life of 3 year -
cash oLUS
Year )
0 ZD.GD,DDCI'
1 B,ﬂﬂ,ﬂﬂﬂ
2 g,00,000
3 9,00,000
the plant. Calcu

There is 1o residual value at th
turn (IRR);

(i} discounted payback period.

Applicable discounting rate is 10% p.
rate of 10% and 12% are given below for 3 ¥

(1] Internal Rate of Re

Year
PV at 10%
PV at 12%

(c) =0%F syrferes fremg 3 i 34 TE AR HARe
Discuss the role of insurance industry and IRDA
development of the country.

SLPM-P-COM/6

¢ end of the life of

a. Present yalues ©
ears :

{T 1 at the discou

0 1 2 3

1 0909 0-826 0751

1 0:892 0797 0712
o 1o ) s A FEAT Hifel
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